

Fig. at =
$$\sqrt{2+\sqrt{2}}$$
 The minimal page of a over Q is $f(x) = x^4 - 4x^2 + 2 \in Q(x^2)$.

The minimal page of a over Q is $f(x) = x^4 - 4x^2 + 2 \in Q(x^2)$.

The mosts of $f(x)$ is irreducible in $Q(x)$ so it really is the min. page of a over Q is $x^2 - 2 = \sqrt{2}$.

At $x^2 - 4x^2 + 4 = 2$.

At $x^2 - 4x^2 + 2 = 0$.

At $x = \sqrt{2+\sqrt{2}}$.

At x

d has min poly. x3-2 ∈ Q[x] which is irreducible $q = 3/2 = 2^{1/3}$ Compare G= (t) E=Q[Q] Q is an In R[x], $f(x) = x^2 - 2 = (x - \alpha)(x^2 + \alpha x + \alpha^2)$ extension of degree E:Q7 = 3 with basis 1, 0, 0 = 3/4 (0=2) T(0+6/2) = 0-6/2 G = Aut E = {1, t}, quadratic extension Degree 2 extension: (ie. F is an intermediate field) the transitivity of degrees tells us [E: Q] = [E:F][F:Q] quittic If [F:Q] = 1 then {1} is a basis for Force Q so F = {al : a ∈ Q} If [E: F] = 1 then (similarly) E= F. More generally if E2F is an extension of prime degree p= [E:F] Then the only intermediate extensions are E and F. What are the automorphisms of $E = Q[\alpha]$, $\alpha = 3/2$? If $\phi \in Aut E$ then $\phi(\alpha) = \phi(\alpha) = \phi(\alpha) = 2$

In C, every poly,
$$f(x) \in C[X]$$
 of degree x factors as $f(x) = a(x-r)(x-r)$. $(x-r_x) = a(x-r_x)(x-r_x)$. $(x-r_x) = a(x-r_x)(x-r_x)$. Where $f(x) = a(x-r_x)(x-r_x)$ is the second $f(x) = a(x-r_x)(x-r_x)$. We have $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$ is a solution of $f(x) = a(x-r_x)(x-r_x)$. The solution of $f(x) = a(x-r_x)(x-r_x)$